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	Source Data
	Variable

	A
	
	Country

	B
	OECD, NA, Table 1, variable C. gross domestic product
	Gross Domestic Product (GDP)
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	I
	OECD, NA, Table 3, variable C.Taxes less subsidies on production and imports
	Indirect Taxes (IT)
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	K
	OECD, NA, Table 1, variable C. Government final consumption expenditure
	Government consumption expenditure (G)

	L
	OECD, NA, Table 1, variable C. External balance of goods and services
	Net Exports (NE)

	M
	OECD, NA, Table 1, variable C. Household final consumption expenditure
	Private Consumption expenditure (C)

	N
	OECD, NA, Table 1, variable C. Gross capital formation
	Gross capital formation (I)

	O
	
	
[image: image4.wmf]milC

cCGGIT

=+--



	P
	OECD, RS, Total Tax revenue, 1100 Of individuals
	HH Direct Taxes (HH_DT)

	Q
	OECD, NA, Table 4, variable C. Consumption of fixed capital
	Depreciation (DEP)
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	S
	OECD, RS, Total Tax revenue, 2000 Social security contributions
	HH Social Security (HH_SS)
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	AA
	
	Compensation of employees (W)

	AB
	
	Entrepreneurial Income (EI)
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Two main data sources:

1. OECD, National Accounts Statistics, volume 1. from tables 1,3 and 4.
http://caliban.sourceoecd.org/vl=2935832/cl=119/nw=1/rpsv/ij/oecdstats/16081188/v149n1/s1/p1

2. OECD, Revenue statistics, Details of tax revenues - United States, 
http://caliban.sourceoecd.org/vl=2935832/cl=119/nw=1/rpsv/ij/oecdstats/16081099/v55n1/s42/p1

The effective marginal tax rate on labor income is calculated as: 
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